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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 MANIPURI QUESTION PAPER

Topic:- 35Manipuri_A
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[Question ID = 407][Question Description = Q01_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1625]
2. 2 [Option ID = 1626]
3. 3 [Option ID = 1627]
4. 4 [Option ID = 1628]
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[Question ID = 408][Question Description = Q02_Manipuri_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 1629]
2. 2 [Option ID = 1630]
3. 3 [Option ID = 1631]
4. 4 [Option ID = 1632]
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[Question ID = 409][Question Description = Q03_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1633]
2. 2 [Optien ID = 1634]
3. 3 [Optien ID = 1635]
4. 4 [Option ID = 1636]
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[Question ID = 410][Question Description = Q04_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1637]
2. 2 [Option ID = 1638]
3. 3 [Option ID = 1639]
4, 4 [Option ID = 1640]
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[Question ID = 411][Question Description = Q05_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1641]
2. 2 [Option ID = 1642]
3. 3 [Option ID = 1643]
4. 4 [Option ID = 1644]

®) o ERmfatent e w1
st wffistemt sRafs Sipaat 1
TSI ITIARGT T 1|
eereTiires) At Rt 1
YA ormsfre oy meafig
() @ IS

(2) A (ST

3 g o1t
(4) Teg IS

[Question ID = 412][Question Description = Q06_Manipuri_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 1645]
2. 2 [Option ID = 1646]
3. 3 [Option ID = 1647]
4. 4 [Option ID = 1648]
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[Question ID = 413][Question Description = Q07_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 164%]
2. 2 [Option ID = 1650]
3. 3 [Option ID = 1651]
4. 4 [Option ID = 1652]
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[Question ID = 414][Question Description = Q08_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1653]
2. 2 [Option ID = 1654]
3. 3 [Option ID = 1655]
4. 4 [Option ID = 1656]
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[Question ID = 415][Question Description = Q09 Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1657]
2. 2 [Optien ID = 1658]
3. 3 [Option ID = 1659]
4. 4 [Option ID = 1660]
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[Question ID = 416][Question Description = Q10_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1661]
2. 2 [Option ID = 1662]
3, 3 [Option ID = 1663]
4. 4 [Option ID = 1664)]
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[Question ID = 417][Question Description = Q11_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1665]
2. 2 [Option ID = 1666]
3. 3 [Option ID = 1667]
4. 4 [Option ID = 1668]
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[Question ID = 418][Question Description = Q12_Manipuri_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 1669]
2. 2 [Option ID = 1670]
3. 3 [Option ID = 1671]
4, 4 [Option ID = 1672]
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[Question ID = 419][Question Description = Q13_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1673]
2. 2 [Option ID = 1674]
3. 3 [Option ID = 1675]
4. 4 [Option ID = 1676]
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[Question ID = 420][Question Description = Q14_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1677]
2. 2 [Option ID = 1678]
3. 3 [Option ID = 1679]
4, 4 [Option ID = 1680]
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[Question ID = 421][Question Description = Q15_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]
4. 4 [Option ID = 1684]
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[Question ID = 422][Question Description = Q16_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1685]
2. 2 [Optien ID = 1686]
3. 3 [Option ID = 1687]
4. 4 [Option ID = 1688]
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14 TIETEAl e aitatemt- “All aspects of folklore, probably originally the product of

individuals, are taken by the folk and put through a process of re-creation... become a
group product” TATTMS
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[Question ID = 423][Question Description = Q17_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1689]
2. 2 [Option ID = 1690]
3. 3 [Option ID = 1691]
4, 4 [Option ID = 1692]
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[Question ID = 424][Question Description = Q18_Manipuri_SHAAN_NOV20_shift1]

1 [Option ID = 1693]

2. 2 [Option ID = 1694]
3. 3 [Option ID = 1695]
4. 4 [Option ID = 1696]
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[Question ID = 425][Question Description = Q19_Manipuri_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 1697]
2. 2 [Option ID = 1698]
3. 3 [Option ID = 1699]
4, 4 [Option ID = 1700]
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[Question ID = 426][Question Description = Q20_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1701]
2. 2 [Option ID = 1702]
3. 3 [Option ID = 1703]
4. 4 [Option ID = 1704]
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[Question ID = 427][Question Description = Q21_Manipuri_SHAAN_NOV20_shift1]

1 [Option ID = 1705]
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| 2. 2 [Option ID = 1706]
3. 3 [Option ID = 1707
4. 4 [Option ID = 1708]
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[Question ID = 428][Question Description = Q22_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1709]
2. 2 [Option ID = 1710]
3. 3 [Option ID = 1711]
4, 4 [Option ID = 1712]

23)

FAET FAST e IEaT ey ‘rafefew st of wift@r deamar
G(RIEEIRCIEY:

(1) BoE = @reaw

(2) 9B il

(8) WEIT TS

(49  OE oTEeey [

[Question ID = 429][Question Description = Q23_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1713]
2. 2 [Option ID = 1714]
3. 3 [Option ID = 1715]
4. 4 [Option ID = 1716]
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[Question ID = 430][Question Description = Q24_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1717]
2. 2 [Option ID = 1718]
3. 3 [Option ID = 1719]
4. 4 [Option ID = 1720]
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[Question ID = 431][Question Description = Q25_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1721]
2. 2 [Option ID = 1722]
3. 3 [Option ID = 1723]
4. 4 [Option ID = 1724]
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[Question ID = 432][Question Description = Q26_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1725]
2. 2 [Option ID = 1726]
3. 3 [Option ID = 1727]
4. 4 [Opticn ID = 1728]
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[Question ID = 433][Question Description = Q27_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1729]
2. 2 [Option ID = 1730]
3. 3 [Option ID = 1731]
4. 4 [Option ID = 1732]
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[Question ID = 434][Question Description = Q28_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1733]
2. 2 [Option ID = 1734]
3. 3 [Option ID = 1735]
4. 4 [Option ID = 1736]
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[Question ID = 435][Question Description = Q29_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1737]
2. 2 [Option ID = 1738]
3. 3 [Option ID = 1739]
4. 4 [Option ID = 1740]
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[Question ID = 436][Question Description = Q30_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1741]
2. 2 [Option ID = 1742]
3. 3 [Option ID = 1743]
4. 4 [Option ID = 1744]
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[Question ID = 437][Question Description = Q31_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1745]
2. 2 [Option ID = 1746]
3. 3 [Option ID = 1747]
4. 4 [Option ID = 1748]
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[Question ID = 438][Question Description = Q32_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 174%]
2. 2 [Option ID = 1750]
3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]
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[Question ID = 439][Question Description = Q33_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1753]
2. 2 [Option ID = 1754]
3. 3 [Option ID = 1755]
4. 4 [Option ID = 1756]
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[Question ID = 440][Question Description = Q34_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1757)
2. 2 [Option ID = 1758]
3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]
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[Question ID = 441][Question Description = Q35_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1761]
2. 2 [Optien ID = 1762]
3. 3 [Option ID = 1763]
4. 4 [Option ID = 1764]
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[Question ID = 442][Question Description = Q36_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]
3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]

37) et T
T T
qite T@at g
AT SIS APl YAt
T e |
Fafmg
(1) =g

(2)  oioer g aises

(3) bt T T
4) TmETSr o |

[Question ID = 443][Question Description = Q37 _Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1769]
2. 2 [Optien ID = 1770]
3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]
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[Question ID = 444][Question Description = Q38_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]
3. 3 [Option ID = 1775]
4. 4 [Option ID = 1776]
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[Question ID = 445][Question Description = Q39_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1777]
2. 2 [Optien ID = 1778]
3. 3 [Optien ID = 1779]
4. 4 [Option ID = 1780]
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[Question ID = 446][Question Description = Q40_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1781]
2. 2 [Option ID = 1782]
3. 3 [Option ID = 1783]
4. 4 [Option ID = 1784)
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[Question ID = 447][Question Description = Q41_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4, 4 [Option ID = 1788]
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[Question ID = 448][Question Description = Q42_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1789]
2. 2 [Optien ID = 1790]
3. 3 [Option ID = 1791]
4. 4 [Option ID = 1792]
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[Question ID = 449][Question Description = Q43_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1793]
2. 2 [Option ID = 1794]
3. 3 [Option ID = 1795]
4. 4 [Option ID = 1796]
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[Question ID = 450][Question Description = Q44 Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]
3. 3 [Option ID = 1799]
4, 4 [Option ID = 1800]
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[Question ID = 451][Question Description = Q45_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1801]
2. 2 [Option ID = 1802]
3. 3 [Option ID = 1803]
4, 4 [Option ID = 1804]
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[Question ID = 452][Question Description = Q46_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1805]
2. 2 [Option ID = 1806]
3. 3 [Option ID = 1807]
4, 4 [Option ID = 1808]
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[Question ID = 453][Question Description = Q47_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1809]
2. 2 [Option ID = 1810]
3. 3 [Option ID = 1811]
4. 4 [Option ID = 1812]
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[Question ID = 454][Question Description = Q48_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1813]
2. 2 [Option ID = 1814]
3. 3 [Option ID = 1815]
4. 4 [Option ID = 1816]
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[Question ID = 455][Question Description = Q49_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1817]
2. 2 [Option ID = 1818]
3. 3 [Option ID = 1819
4. 4 [Option ID = 1820]
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[Question ID = 456][Question Description = Q50_Manipuri_SHAAN_NOV20_shift1]

o =

. 1 [Option ID = 1821]
2 [Option ID = 1822]
. 3 [Option ID = 1823]
. 4 [Option ID = 1824]
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[Question ID = 457][Question Description = Q51_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1825]

2. 2 [Option ID = 1826]

3. 3 [Option ID = 1827]

4, 4 [Option ID = 1828]
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[Question ID = 458][Question Description = Q52_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1829]
2. 2 [Option ID = 1830]
3. 3 [Option ID = 1831]
4, 4 [Option ID = 1832]
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[Question ID = 459][Question Description = Q53_Manipuri_SHAAN_NOV20_shift1]

. 1 [Optien ID = 1833]
2 [Option ID = 1834]
3 [Option ID = 1835]
. 4 [Option ID = 1836]

o 2
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[Question ID = 460][Question Description = Q54_Manipuri_SHAAN_NOV20_shift1]

. 1 [Option ID = 1837]
. 2 [Option ID = 1838]
. 3 [Option ID = 1839]
4 [Option 1D = 1840]

oWk b

) e ofmh e sTafeier % TRt smecarfrefis
A  Tooe e coarmar
(B) X 3 oEET (%
(C) g Fra aerdest
D) &% & FRM T[T S

STUITRWST SEET 4gs
(1) AP C (2) B9wpr D
(3) A wPEB @) CopR D

[Question ID = 461][Question Description = Q55_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1841]
2. 2 [Option ID = 1842]
3. 3 [Option ID = 1843]
4. 4 [Option ID = 1844]

56) ST IECEIIET 39T afaefiefivs
Q) st ew ¢ngfa
B & o7 feibhen
(C) mEREr 8% e ¢nifa
(D) O cmfa @ % G

T oIpET Ags

(1) ASPRC (2) B =g C
(3) A I D 4y Co=ee D
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[Question ID = 462][Question Description = Q56_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1845)
2. 2 [Option ID = 1846]
3. 3 [Option ID = 1847]
4. 4 [Opticn ID = 1848]

37) AT et geafefis

(A)  &fEm

(B) gefe

(C) ex

(D) BBy

TASTEW TR 4gs

(1) A=PRRB (2) Bom C
(3) C=PED (4) A wpRD

[Question ID = 463][Question Description = Q57 Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1849]
2. 2 [Optien ID = 1850]
3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]

°8) ‘GrRed TEVIE'AT THe SAT FRFE ARG (ST WRIAT SIES] WA Afehiefis

&) EFEE

B wTHE

© T

D) TR

TIPS THRT 43

() A= C (2) B ewR D
(3 AwsB 4) CoPRD

[Question ID = 464][Question Description = Q58_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1853]
2. 2 [Optien ID = 1854]
3. 3 [Option ID = 1855]
4. 4 [Option ID = 1856]

9 Rt S5 SEAT ST SERPIE] T 8F FTAT RSl (AR sifefiefis

(A) FEHU

(B) TEISEST

© =

(D) =0

TATETHST SIpRT 453

() AZPRB (2 BwwWR D
(3 ATpFRC (4 CoPRD

[Question ID = 465][Question Description = Q59_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]
| 3. 3 [Option ID = 1859]
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| 4. 4 [Option ID = 1860]

60)  TYICHT AP TF SN (@1 SUPAT FHiSHTIIT TFoIe FaATeILhNS

Q) ot o

(B) ol fersi

(C) @F 8T "8

(D) weiheasr s

TARCTEN SHar 458
() ASTEB 2
(3 AwmRED 4

B &R C
C =32 D

[Question ID = 466][Question Description = Q60_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1861]
2. 2 [Option ID = 1862]
3. 3 [Option ID = 1863]
4. 4 [Option ID = 1864]

1) it @ @iadt Wi AT FoTeats

(A) TFIPRI

B) TEPRF

(C) AR

D) TEPRA

LA g3

1) ASPRB (2)
3 COHPRED (4)

B =R C

A PR C

[Question ID = 467][Question Description = Q61_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1865]
2. 2 [Option ID = 1866]
3. 3 [Option ID = 1867]
4, 4 [Option ID = 1868]

%2)  gBor SR ECETEA FwTsET MARRPT
A)  IS-SAMIT
(B) AIH 7w (Z-Prenar

(C) war-srmEal

(D)  areer Ams|ar 9

ERIRIE ORI
() A =rFRB (2)
(3 BwTPERD 4)

B =mje C
C =32 D

[Question ID = 468][Question Description = Q62_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1869]
2. 2 [Option ID = 1870]
3. 3 [Option ID = 1871]
4. 4 [Option ID = 1872]

83)  «sfestig’ W@ sovrmer e
(A) & & o
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(B) BT >THed=
(C)  THouTAT Prrg

D) ISP A

TATRIMST SpET 458
() A STFRB (2) BwwR C
(3 ATFRC 4 C=FERD

[Question ID = 469][Question Description = Q63_Manipuri_SHAAN_NOV20_shift1]
. 1 [Option ID = 1873]
2 [Option ID = 1874]
3 [Option ID = 1875]
. 4 [Optien ID = 1876]

-

) Srarewieg @icEFRTN TR
(A) oM oSN FrcEreREar
(B) oIS\ Woiwl o0 4RT +itst
(C)  REX-TRTA! (FTRAIN
(D) I sEr W

TATSToToT ST 43
(1) A SPEB (2) BewR C
3 BEERD (4) C®PR D

[Question ID = 470][Question Description = Q64_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1877]
2. 2 [Option ID = 1878]
3. 3 [Option ID = 1879]
4. 4 [Option ID = 1880]

85) T IFTAET MoRRET FAA TIRES
(A)  TEIRGT AR
(B)  OGIGIAFIAN
(€)  sffoBr e sTrCETR WY
D) A A mRr W

TATABTN SHET 458
(1) ATTRB 2 CorRD
3 BwpERC (4) DOR B

[Question ID = 471][Question Description = Q65_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1881]
2. 2 [Optien ID = 1882]
3. 3 [Option ID = 1883]
4. 4 [Option ID = 1884]

66) T s 1onrR R I & s Aigs

List I (*@w) List 11 (=113 )
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(A) (DI BRG] ) Y el
(B) Trtar YRRy D) PreEE
(C) fameta Mt Iy THERTN Yoare
D) o CAFTIRA av) Sategiat e
Tt oipEr 4
(1) (A)- 1L (B)- L, (C)- IV, (D)- 111
@  (A)-11, (B)- IV, (O)- IIL, (D)- T
3  (A-IV.B®)-1, (C)- 111, (D)- 11
(4) (&)- IIL. (B)- 1L (O)- L. (D)- IV

[Question ID = 472][Question Description = Q66_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1885]
2. 2 [Option ID = 1886]
3. 3 [Option ID = 1887]
4. 4 [Option ID = 1888]

67) St fors Ionppe fore I &Y ot s

List I (1%at) List II (=113f5r0)
(A) TEHEbE cteRsE O Hewe =0 o5
(B) TeTiCET A an Qs
(C) == 3= AID) Ft ciesitat
D) <TEW oA AV) SR estier It
TS TR s
(1) (A)-1I1, (B)- IL. (C)- IV. (D)- I
@  (A)-1V, (B)- 111, (O)- I, (D)- 11
(3)  (A)-1,(B)-1I, (C)- IIL. (D)- IV
4 (-1 B)- IV, (O)- 1, (D)- II

[Question ID = 473][Question Description = Q67_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1889]
2. 2 [Option ID = 1890]
3. 3 [Option ID = 1891]
4. 4 [Option ID = 1892]

68)

Tt fovs Tommge s I A veat Aigs

&)
(B)
()
()

List I (23231 List IT (&fT)
Fidcatah S O  FEHN Tt
Tl qCEE (I R ENENE SR B
AR YT e (IID) oW TEet
TRIRFCEIT ot @V) THTsr ooepe @i

TSRS wEeT WEe
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)
(2)
(3)
(4

w, -,

(A)- L. (B)- 11, (C)- IIL. (D)- IV
(A)- IL (B)- I, (C)- IV, (D)- III
(A)- IIL, (B)- IV, (C)- L, (D)- IT

(A)- IV, (B)- 1L, (C)- 11L, (D)- I

[Question ID = 474][Question Description = Q68_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1893]
2. 2 [Option ID = 1894]
3. 3 [Optien ID = 1895]
4. 4 [Option ID = 1896]

69) it fovm Tomege fos I At oiwat Higs

(A)
(B)
(C)

)

List I (=& wfire)
TSR

SR

oMeaR

RIS

T4id ST et s

(L
2
(3
(4

(A)- III, (B)- IV, (O)- 11, (D)- I
(A)- I, (B)- L. (O)- IIL. (D)- IV
(A)- IV. (B)- I1, (C)- I, (D)- III
(A)- L. (B)- IV, (C)- 111, (D)- II

List IT (AArstmat =i )
@) e
D) T
(II) *FrRYRT
(IV) THEEeTm

[Question ID = 475][Question Description = Q69_Manipuri_SHAAN_NOVY20_shift1]

1
2
3.
4

70)  wyrfy v 1onpR R 1 At vieRr s

(A)

(B)

©)

@®)

. 1 [Option ID = 1897]
. 2 [Option ID = 1898]
3 [Option ID = 1899]
. 4 [Option ID = 1900

List 1 ( cwoeetiis)
(R ]

et S

e, cafist

TG JIGT

TRAA opEr 458

ey
(2)
(3)
4

(&)- L (B)- 111, (O)- IV, (O)- I
(A)- II1. (B)- IV, (O)- IL, (D)- I
A)- IV, (B)- IL. (C)- L. (D)- III
A)- III. (B)- IV, (O)- I. - II

List II (%)
O FEetetes
an wre
(III) wetw

IV) eiiest

[Question ID = 476][Question Description = Q70_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1901]
| 2. 2 [Option ID = 1902]
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| 3. 3 [Option ID = 1903]
4. 4 [Option ID = 1904]

M B 1oeR e & star g

(&)

(B)

(©)

D)

List I (s13f)

RS cotsmrmie e
TIRTERS U™ Tewes
TR O Fodifiaferem

fTrowmd Aot = @l

TIPS orpRT g

(L
2
(3
4

(A)- IV, (B)- IL, (C)- IIL. (D)-1
(A)- II1, (B)- IV, (C)- 1. (D)- 11
(A)- 11, (B)- I, (C)- IIL, (D)- IV
A)- L (B)- IIL, (C)- IV, (D)- I

List IT (S1Z3)
@ TR SR
d) = IS
a1 fom gt

(IV) ™Hm R3eeeT

[Question ID = 477][Question Description = Q71_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1905]
2. 2 [Option ID = 1906]
3. 3 [Option ID = 1907]
4. 4 [Option ID = 1908]

72 qnd R 1oneR fe I A st s

(&)

(B)

€

(D)

List I (aftestt sifws )
"
R EIR

wienT 9

PHO

TN opRT g8

(L
(2)
(3)
(4)

(A)- 1L (B)- IV, (C)- 1, (D)- III
(A)- IIT, (B)- IL (C)- IV, (D)- 1
(A)- IV, (B)- 1, (C)- 11, (D)- III
(A)- L, (B)- I, (C)- IV, (D)- I

List II (572wir)
@H =
an =
am Hits

av) oI

[Question ID = 478][Question Description = Q72_Manipuri_SHAAN_NOV20_shift1]

bl B

73 rnf fovs Tone R I A s A

(A)

(B)

. 1 [Option ID = 1909]
2 [Option ID = 1910]
3 [Option ID = 1911]
4 [Option 1D = 1912]

List I (Simict #HCm)
4 AR W Tt

watst CEEle *tat

List I (=7)
I 2 o M ok e 5 e o s L A [ e

an I Gt
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(C) TR GIIeTeent OFT e (At
(D) BdEt $taa et

athimaT wpEt 43

(1) (A1 (B)-III, (C)- IL. (D)- IV

(2)  (A)-1I1, (B)- 1, (C)- IV, (D)- III

(3)  (A)-1IV, (B)-1I, (C)- IIL (D)- I

4) A)- I, (B)- IV, (C)- L, (D)- II

(III) AT =St At

AV) St Feaqt st

[Question ID = 479][Question Description = Q73_Manipuri_SHAAN_NOVY20_shift1]

e it B

74 i R 1oneR B O &t ot g

(A)
(B)
(C)

D)

. 1 [Option ID = 1913]
2 [Option ID = 1914]
. 3 [Option ID = 1915]
4 [Option ID = 1916]

List I (=521
TRRFCEI BTt
ot St
oI TEE

S (EisEl

THRPRAN wpEr 93

1
(2)
(3)
(4)

(A)- III, (B)- IV, (C)- I (D)- II
(A)- L (B)- IL, (C)- IIL (D)- IV
(A)- IL (B)- L, (C)- IV, (D)- III
(A)- IV, (B)- IIL, (O)- II, (D)- I

List IT ( FS0T6)
@O Wy Pre
ID =St JSTT

I AT gt

(IV) TResteIit Yratercaiie

[Question ID = 480][Question Description = Q74 Manipuri_SHAAN_NOV20_shift1]

-

. 1 [Optien ID = 1917]
2 [Option ID = 1918]
3 [Option ID = 1919]
. 4 [Option ID = 1920]

75) w fors 1omeR o 1T At ot Aigs

A)

(B)

(&)

®)

List 1 (ZwReCETHT)

(AT ST

g G5 FeEH

TIIEE (RAerdiosy

Hetlg ooigt

TR o 4

)

(A)- L. (B)- IIT, (O)- I1, (D)- IV

List IT (=723
O o
(1) =i o oiiEtm
(L) wey < PuaEy

AV) Tgieat gt ot witer=it
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(Z) - 1L W) LU)- LV, W)- 1L
(3 AL B)- IV, (O)- L, (O)- II

(4) (A)- IV, (B)- IL, (C)- 111, (D)- I

[Question ID = 481][Question Description = Q75_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]
3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]
76) widt faeelifite w1 Aafiar o -oceiatis
(A) tofey sheweaf
(B) Tufeg 4R ferstwat
(C) Tamey =iEst

D) by Ao

TR wpEt Iy
() D-C-AB (2) B-ADC
(3) A-C-D-B (4 B-D-C-A

[Question ID = 482][Question Description = Q76_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4, 4 [Option ID = 1928]

7 gaffy =RfR by corerd omE-wifag
(&) ISP TRl
(B)  wrttew fareos
(C) Q&I ST
D)  Ywem NRPeis

TAERBmA ot s
(1) A-B-C-D (2 B-D-AC
3 D-BCA 49 C-ABD

[Question ID = 483][Question Description = Q77_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1929]
2. 2 [Optien ID = 1930]
3. 3 [Optien ID = 1931]
4. 4 [Option ID = 1932]

78) wfafihi ol e o St
()  Wio =R eIt aigTEt
(B)  Tmueers mareTst o
(C) =i =ANSIT eTiReAITeT

(D) e aghsat

AR ot dgs

(1) A-C-B-D (2) C-B-D-A
(3) AD-C-B (4) D-A-B-C

[Question ID = 484][Question Description = Q78_Manipuri_SHAAN_NOV20_shift1]
| 1. 1 [Option ID = 1933]
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| 2. 2 [Option ID = 1934]
3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]

79) it wrafaeehe wiby cErefiait omie ot
(&) gt oy (2)
(B) Tod sieEl freoRe et
(C) AR g2 5ot cAmfem

D) el Rege
TP opRT Ygs
(1) B-C-A-D (2) C-D-B-A
(3) A-B-D-C 4 D-A-C-B

[Question ID = 485][Question Description = Q79_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]

80) it erfafrot Wit crteREdt o WS

(A) 03 [ B TG [Ra kT

(B) % @w ¢ofidfa
(C) ™ @Eres aw 7 o
D) TE[ow 9w s

TR et 48
(1) D-B-C-A 2) C-D-AB
(3 B-ADC 4y A-CBD

[Question ID = 486][Question Description = Q80_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1941]
2. 2 [Option ID = 1942]
3. 3 [Option ID = 1943]
4. 4 [Option ID = 1944]

81)  maifit sifwe fire wifr temef os sl

(A) P

(B) wErE

(C)y T

D) eifEs

TP opEr 493

(1) B-AD-<C (2) A-C-BD
() C-B-A-D (4 D-A-B-C

[Question ID = 487][Question Description = Q81_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]
3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]

82) wyit MfFat sosircerafie ol ot omw sty

(A  FISpEE A
(B)  oatsy S
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(C) & & ootet
D) S SETR

TR ot 48
(1) B-D-AC 2 C-B-A-D
(3 C-ABD 4) D-B-AC

[Question ID = 488][Question Description = Q82_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]

83 trerdh, o), g, avet-steutie @it medt Setwios

a) oot
(B) T

©  feemer

D) e

T et dgs

() D-A-B-C (D) A-D-B-C
3y BACD 4 CABD

[Question ID = 489][Question Description = Q83_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1953]
2. 2 [Option ID = 1954]
3. 3 [Option ID = 1955]
4. 4 [Option ID = 1956]

84) matmr Mty omeat Assertion A 8, oAt Reason R 1

Assertion A : =FI=IRT et RIS Mg orredifim omisfrcen Pt 7St swmiaee)

FAgwAal FAT R |

Reason R : mifert Mivear temielly Rrsmmdt woitlig Fommafi |

(1) ApFa RpMw
(2) ApFr Renim

(3) A= R g

49 Awfir Reifa

[Question ID = 490][Question Description = Q84 Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1957]
2. 2 [Optien ID = 1958]
3. 3 [Option ID = 1959]
4. 4 [Option ID = 1960]
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| 85) gy AP st Assertion A 5,90 Reason R 1

Assertion A :  fFer ataares gfremt HrelfF

Reason R :  ulsaiws] mieas oozl feuer difaadft ardemt oo-tae cotgratasesia

TRAT TieT THRT TITH
Tt At npe T opE 4
(1) A oiifir oopstt R 3] &7l o
@  Agpfaemt Ry pfa
(3) A pMTomsit R =tfer

(4y At RpP

[Question ID = 491][Question Description = Q85_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1961]
2. 2 [Option ID = 1962]
3. 3 [Option ID = 1963]
4. 4 [Option ID = 1964)

88) et AifiPr oAt Assertion A 9, om=t Reason R &1

Assertion A: wftbsig g oL m #iiwet <fosipt areaRwt =it frend oiat

ThSRSN TN SuserRficey wieRaSt (oAt |

Reason R :  wftwjait g P erifae sesifasgfic «nidamar sat-srm ariedegat iy |

(1) AgpPw R
@ ApMTREFW
(3 A= R phw
(4 A=tmReatE

[Question ID = 492][Question Description = Q86_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]
3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]

87) et MfzafT omat Assertion A &, =war Reason R &1

Assertion A : Theg FHET WA TeTpIRT I FWAT @3JT TSl WA P ERAT
T AIRTRTE] (47 TR IR |

Reason R : TRz "pafionr cGRl o7 TRt P oriereiRy oeRwR
SETWT TG SIS, |

(1) A =f R g
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(2)

(3)

@

A o R =ifar
A =orje R ot G omstt R ar A Y naw o |

A o R oeime =itfyy smett R &t A &t waw o3

[Question ID = 493][Question Description = Q87_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1969]
2. 2 [Option ID = 1970]
3. 3 [Option ID = 1971]
4. 4 [Option ID = 1972]

88) g M3t oot Assertion A 4, =T Reason R 1

Assertion A : SIIEigN sFmokicat smiceoe oAt o @ @Ew g @sat @Em

CFSTITE |

Reason R :  woft ooty o wie eTmimsimf oiwsit sworraieadr 8oy |

(1)

(2)

(3

(4)

A =iifsr R g
A pfu R =ity

A =iy R o] wiifer

A pf R g

[Question ID = 494][Question Description = Q88_Manipuri_SHAAN_NOV20_shift1]
1, 1 [Option ID = 1973]
2. 2 [Option ID = 1574]
3. 3 [Option ID = 1975]
4. 4 [Option ID = 1976]

89)  mamr Hifibr ot Assertion A N, ot Reason R 1

Assertion A : TTiei® DRI Ti%

Reason R:  o@gal ¢omfeT =it &6 3 CRitqt w1 |

net Mfaabh agpe At wpar 453
() A=, RpR

(2) A pP=, R eifa

(3) A wifir soptt R o] arfer

(4)

A pfw ot R 7 g

[Question ID = 495][Question Description = Q89_Manipuri_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 1977]
2. 2 [Option ID = 1978]
3. 3 [Option ID = 1979]
4, 4 [Option ID = 1980]

%0)  armr Mt oot Assertion A £1,onMr Reason R ¥
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Assertion A : et gyt sexdwt aat ot R

Reason R : =foroat saiast g7 wnrt @3t gfimt afmar ax@) g s oigm
Tt AR g T opar g

(1) A 3 ot R enifad

(2) A wrifer oo R i~

(3) A eifer ot R 3 =ifer

(9  ApPw omet R 3 pFa

[Question ID = 496][Question Description = Q20_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1981]
2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]
4. 4 [Option ID = 1984)

Topic:- 35Manipuri_B

1) w415 Passage WM amg St stisym Mg
T It TRRPET e Eaft Tiew | SRR Rt sERg | perEm, whmt
TheRaf Yo} Gt STy oRzaeet grmalt st fowtiaaat veat wten ) gt serst gt
@R (VAR - @ REE [, e INmet, Fhant 6rdig, (Chekhov) SoFe
coofemt Satt (Unamuno Jor feat sat | sedin YRars sheaoft shter wie ofwif |
TR ToTelA ARSTATAIT AT ToEr 4N St TRt mieRiElRty IeME o TR
SIS PR TP GTPRE T FF | onF Tolt et P o | Graredt ¢ht ebd
(Cherry Orchard) i<Wt A% ot It AheIest ¢ f, [, @7 Ft gt Tt Tt wmfs
SAT SR UG | TEIEA SpEat T (SeAfT | @St SEEDh | sy et ol
TR SRPA-2ARYERY Tt BRI | 4R iR 1 st oftft anete ot JeRwiEEr IR

ofsmres] il fafomr oif Afse weafi Seamr oeR sfeten s ww st cifa,
chfiaat enfa gaafy | ot avwt ekl S Regaat 59w 1

oty 39N wrmisaT wew itfEes wifer fnet ety | wR mf mudeSat fremmed wodEat
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(4) (A)- L. (B)- I1, (C)- III. (D)- IV
[Question ID = 497][Question Description = Q91_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1985]
2. 2 [Optien ID = 1986

]
3. 3 [Option ID = 1987]
4. 4 [Option ID = 1988]

2) T Passage WBmAT ata At shsqm Aigs
T et ZRRBET SheE Eaft wiw | SRR et SRyl | pewEEm, it
Theaft A= et TifRsy sigacs gaaalt swseh Safaat veat gier i gl st gEat
PR (ER- @R /oW, 39ST IR, FhEe Grdg, (Chekhov) =oFe
coviamt Saet (Unamuno o fosar ot | seaty s sresslery smter w1 Sieii |
TN ToTolNt TreEEaAS NS woEt N et ToRt AheREReioRtT IeME ot ST
TS FLRCH TAPR (TIFEfE i IS | ORjRey wofe wpmt P il | raredt (61 ofs
(Cherry Orchard) s 9r=ui% Citeat It aheest? fs, 4, @o1 S pyat wff waimt aaiafy
SIS SGAT AREFH | AT TLEAT TN SN | DN SHTET | STHRAY 8T G |
F2iFt Tipfa-2amyaeg oEt oiafw | 4R ofiehi 1 =fmat ot arete oifSmt FerRmidat saftr?
whmee] gt it @bt dfew Teaft Soamm whr FRwrar S m=F oo o,
cnfimat enta gfEafs | ot At sl Pt et 53

Gy 3 Atmiewar wenAt Sifies @il ferar tafy | A WA mrscaie St fierredt wpsRat
e T Bl | (Rl e nfse iRt itsfes tewiy | R prahte Hftw
AT S6%0 AT sdoe A syec T AT TR B SN Yfment sufifee wheg ey e |
Tior®t St @, wretafomat dat Gfiwst enmastat sois citggstt oo Sefer | faeat et

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

FImt wewy, IwvaT Eestmesr Vvt AT fvrst R w4eIT siim I TR | o
St o (st (A James Joyce) Al aiderdt (UFATCY EERGTRIRIt TSR (Ragat
it (Franz Kafka) w7 6@ (Thomas Mann) afbest st ot (Uiafy ooat o@
TREARAT SATSET W | o] A Aty (William Faulkner) cfirszaafbeat st
st Sreat S STt ErET AR ST At W S e | @iy Tt
IeST wRl CTRTSERT @t et gadlt Ailimar BikeT wwat o) e |

‘AT BEETIF | TR QAT PR | 9w GIpla- Ay 7oAl bR 1 gafiRits

iy

(1) =W
@ s
(3 & &, 9

@ TS omier fJ

[Question ID = 498][Question Description = Q92_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1989]
2. 2 [Option ID = 1990]
3. 3 [Option ID = 1991]
4. 4 [Option ID = 1992]
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[Question ID = 499][Question Description = Q93_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1993]
2. 2 [Option ID = 1994]
3. 3 [Option ID = 1995]
4. 4 [Option ID = 1956]
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[Question ID = 500][Question Description = Q94 Manipuri_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 1997]
2. 2 [Option ID = 1998]
3. 3 [Optien ID = 1999]
4. 4 [Option ID = 2000]
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[Question ID = 501][Question Description = Q95_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2001]
2. 2 [Option ID = 2002]
3. 3 [Option ID = 2003]
4. 4 [Option ID = 2004]
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[Question ID = 502][Question Description = Q96_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2005]
2. 2 [Option ID = 2006]
3. 3 [Option ID = 2007]
4, 4 [Option ID = 2008]
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[Question ID = 503][Question Description = Q97_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2009

3. 3 [Option ID = 2011

]
2. 2 [Option ID = 2010]
]
]

4. 4 [Option ID = 2012
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(A)- 11, (B)- IV, (C)- I, (D)- I
(A)- IV, (B)- IL. (C)- L, (D)- III
A)- 1. (B)- 111, (©)- IV, (D)- II
A)- 1L, (B)- L. (C)- I1I, (D)- IV

[Question ID = 504][Question Description = Q98_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2013]
2. 2 [Option ID = 2014]
3. 3 [Option ID = 2015]
4. 4 [Opticn ID = 2016]
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| [Question ID = 505][Question Description = Q99_Manipuri_SHAAN_NOV20_shift1]

1. 1
2. 2
3.

4. 4

3

3)

[Option ID = 2017]
[Option ID = 2018]
[Option ID = 2019]
[Option ID = 2020]
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o1y gt et wifbefs ‘rrhl? wnpR Rt ssia oredt @it | (Siveg w11 ARt taat enfoget
=T wpyg wiEn oAt Affgat 7ol (TR O IFRE MRCT SEETA @RI (xedt T |
wifBeRest st Fifsafiar soiear w97 S3gAT FerET R RO o At St et
relief work afSear (SvAT ThE] TRCA | QeAiaH Gils (oSt oy A=A Y9 ey et |
oy &7 TP AGIA wR EReOmST o iy wifSgReat 4|t cm (Y omf wRar ey
SETF BTE | QA SiTedt TN WoBT TSI T TRmER] (= e Ra W
Efs] St TR | IO T -wiests weR B-B e raem Eifeeey omest ettt
TR S TefeT | oA R At oTeRt S | U At AT CRAEs ST AreEAai Tt
cfeT whedt 3t ety | aat orp cvewwt aigfie ST =t it st TR
i mimee] The¥- ufT sfrficat atmat srdesfient Rl man Sat-wag 1% von st
witfbefiteat Fiere® mesat =gt =ity St w7 | @M s Tigs @l high relief work
F wrcdisat Yror omla | wifve] awat #or oRat ] St wefer | Qeara R oipw wifrgt
AP FORA YT ST S | =iy Fust Sat gt A V5w wh Tt v - g
e&A RraA afwafienr aefwrr feg gfEfe wifty fefefey | ot cafe s txar g€ 11y
THET T FoRt gRE E] SAT T | AT Sy et o T St TR | e e
T TR A8 Ty o My gt 4t cUES oueye A o Ay wEe et
aint ToR IR U9 & DimT SooRn | i e o Ot Sy Ut SR aie TS
CRTATT Yoier SEAT Nt TowERiT | W FET @ W EEe Kot Wi it
Gt Tete e | AT SR T WYR ¢ty ZEAT oA YRS SAT IWA SN SR AR | ISR
s ratgfi gamat SfbEhR 4aft aramt <wme efrerEet | woaty oy gt oratefa -
o SREAT AT ST AANg S ArdEEt *wwt wArEceitefie ot dttweteat folk art $
Y St TRl | wew oumt wer-any wAr (e cuigret onfoEfe oy e @i%)
ATy AN ST GTAT Tt et Grmt 3 Faett Xoay <A ANl eFr Wite
Rt T ot meeft WA ofERar Wy

e wivet uilr st wpetiat s

(1)
2

3
@

ETRATEIE AR AEY
Ao S

oeT-H1
Agt-TAaaT =18

[Question ID = 506][Question Description = Q100_Manipuri_SHAAN_NOV20_shift1]

oW =

. 1 [Option ID = 2021]

2 [Option ID = 2022]
3 [Option ID = 2023]
]

. 4 [Option ID = 2024
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Topic:- General Paper_Set1_A

1)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained
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Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% hoyd
Professional (PR) 18% B:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:: b

frefafas afee w faem fifve fed o @ g od 3 toem  ffts gat 4 ara % swefss = s
(%) T @ gey-ufgen wESd T q@iE T g @ & % Fe wrEsd B G 80 @ng 2|

drfersst o 138 U SMiRs) + IER G 9T % 39 i)

9IS F1 AFar G
TR oh1 &5 U =1 e
wfcrma (%) fereron | gev-wifger sgwa (g7 )
o (vd %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3ft smeaw (ot @) 9% 5:4
e (i 2IR) 18% BT
WeeA (T U) 21% 3 ad
IedTEa iR uftEss (i ) 19% 5:3
= (3 &) 6% 8:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

weft &t i TR g9 SElEw i olted oA 9 27 (S9mes ° S o 99)

(1) 6.39 ©rE

(3)  5.96 TG

(2) 4.69 @@

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% 5:4
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Professional (PR) 18% 5: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Hid
Others (OT) 6% 3:6

frefafas afee w faer fifve e o @ g ot d toem + fafts gt 4 ara % swefss = g
(%) T @ qey-AlEen weleE SUE gu T # Wl & % P hrEwe hl T 80 g 2

qrferssT o 129 T SRS % R G YT = I ARAC)

TG % s F1 AFar G
TSI, oh1 &5 A ol e
wtawa (%) Torqwr | gev-nfeenm sga@ (g0 )
¥ar (T8 3) 15% 3:2
Tow (W@ ) 12% 5:3
fmtor it smeaw (ot ) 9% 5:4
e (i 2TR) 18% 57
WeIeA (T U) 21% Gk
IedTEa iR uftEsa (i ) 19% 5:3
37 (a1 &) 6% 8 5

prepp

Your Personal Exams Guide

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

wg o ff o & ° e nfeen wRee $ o gen 9w & § Feia g FEed 5 =6

fora wfeea 27

(1) 330%
(3) 320%

(2) 318%
4y 80%

[Question ID = 2008][Question Description = Q02_GP_20N0V_S51_SHAAN]

1.

1 [Option ID = 8029]

2. 2 [Option ID = 8030
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafan oftem W fiem Hifw few o 7@ ge 94 3 o fafaw a0 3 wwa F wesa =@ e
(%) o a1 Teu-afEen FEEe oum qmia T 2wl @l % P FwEed B e 80 9@ 2|

aIfeT O T80 70 aTREl = STTYT W UvH & 397 SIS
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A = shrAse 1 &g e

TR 57 & T o Frer
sicd (%) T | gev-Afeen oguw@ (37 )
Ta1 (vF §) 15% 3:2
Hed (TE 1) 12% 5:3
Fmtor 3tk e (di ) 9% 5:4
AT (H 2TR) 18% 5:7
wergA (T U) 21% 3:4
IeureR IR ufias (di ) 19% 58
317 (211 &) 6% 3:5

prepp

Your Personal Exams Guide

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH U 3R TN T &9 § HEG 95 BEed H Fd Gen 6 f 4 § T SEEd o fe e 1 aTET

ordaT widwa 27
() 82% (2) 87%
(3 89% 4) B85%

[Question ID = 2009][Question Description = Q03_GP_20NM0V_S1_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4, 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafan oftem W fiem Hifw few o 7@ ge 94 3 o fafaw a0 3 wwa F wesa =@ e
(%) o Qo ye9-ufEen FEEe W qmiE A 2wl gl % Fe FEed i G 80 9™ 2

aiferst § f3U 70 STST % STYW W YT % SOK ST

TG % HriEe 1 S fasor
TR 57 & YR T FrHaA
Tt (%) o | gea-afgen egue (T ° )
T (TF §) 15% 3:9
FrroralGer i A) 190 AR
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Fmtor =1t arear (di w) 9% 5:4
e ( 2TR) 18% 5:7
wegA (T U) 21% 3:4
IeureR 3R ufiae (4 ) 19% AR
317 (211 &) 6% 3:b
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T SR TH U &} FEE Afgen wEEA $i Fa ae R 6 d &7 7 Feig aften seisa B aem 5
ot fraar 27

1) 5.1 T @ 7.5 @

(3) 5.7 <T@ (4) 13.2 g

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4, 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) | 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafan oftem W fiem Hifw few o 7@ ge 94 3 o fafaw a0 3 wwa F wesa =@ e
(%) o a1 Teu-afEen FEEe oum qmia T 2wl @l % P FwEed B e 80 9@ 2|

ATt ° T8 770 STES] % STER W I¥T o I a1

R % RS T &R o
TR 57 & I o1 Frfere
stcd (%) T | geu-afeen oguwe (3 A )
a1 (7@ 3) 15% 3:2
TeE (TE T) 12% 5:3
Fmtor 3 e (di ) 9% 6:4
e (i TR) 18% 5:7
&g (TH U) 21% 3:4
Ieuren IR ufiag (di ) 19% 5:3
3179 (a1 &) 6% 3:b
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What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16: 35 (4)16: 39

ot w7 & # TR wiEen FEEd S FE SR 9 o vd o A &El § PN g5 HEEe i fHel Wedl 6

SIS o 27
(1) 17: 39 (2) 16:37
(3  16:35 @ 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL = FFu T A g AR AR T goen 1 UTed FE TR 36 Saredd RGO T Bl 8 7

(1) gl =R (2) rEEE
3) HE®X (4) wWrE TFE T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8045]
L

[Option ID = 8046]
a3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B} Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below ;

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafaa 3= gfenf s amaett 6t gt 2 % sremmm gedt fafm ol = meam @ faf=a foen
T 2| S I S SeeR 1A < aHard 1 39 A i d G SHeER AR S I e 87

(A)  sArca-@adl (ame)

(B) fFEmE

(C)  TE=w i wfeumd
D)  w

(E) "
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EREHE

(1)
2
(3)
(4)

L T T B s

(A) 3R (B)
(B) 3R (C)
(D) R ()
(B) ¥R (D)

[Question ID = 2013][Question Description = Q07_GP_20N0OV_51_SHAAN]

1.1

[Option
2. 2

[Option
3. 3

[Opticn
4. 4

[Option

ID = 8049]

ID = 8050]

ID = 8051]

ID = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.
List 1 Listll

Methods of teaching Techniques for increasing effectiveness

to face interactive method (I} Using Swayam and Moocs

(B) Open and distance learning method (ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below ;

(1) (A)-(1), (B)-(I1}, (C)-(lID), (D)-(IV)
(2) (A)-(l1}, (B)-(I¥), (C)-(1), (D)-(II)
(3) (A)-(1¥), (B)-(N1), (C)-(M), (B)~()
(4) (A)-(I), (B)-(1), (C)-(IV), (B)-(I)

(A) Face

A1 % @ gf-11 = foam $ife) -1 9 s siftrm awnet § fhaw $i B 4 o€ €, o=k gt

11 & siftrmg ffert < vaasfiaa s B aofs @ w8 3

(A)
(B)
(©)
)

9 fov o fawedt 9 © w2 ST W 99 I

1
2)
(3)
(4

it

Bragor it fafern
HIA-guH i Fralharcres i
Ty I gl arftem faf
foreqor =t St fafy

foreror it aTemE &Y

(A)-(D), (B)-AD), (C)-(ID), ()-AV)
(A)-(1L), (B)-(IV), (C)-(I), (D)-(II)
(A)-AV), (B)-(11I), (C)-AD, (D)-(D)
(A)-AD), B)-(I). (C)-AV), (D)-(I1I)

I

UHTEE Al SgH =t dhAlh
(D) = 3 gy % 9
(ID) afERfa TS Sha
(I1I) WisgeR 2rIeweT araf
(IV) Wil & my-wy s oA

[Question ID = 2014][Question Description = Q08_GP_20NM0V_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements
Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and

| abilities.

prepp
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Statement () : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees,
In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement (I} and Statement (ll) are correct
(2) Both Statement (I) and Statement (ll) are incorrect
(3) Statement (1) is correct but Statement (ll) is incorrect
(4) Statement (1) is incorrect but Statement (I} is correct

F97 (1) : Tty ot sifema wigon = qhanfdn % §= ok sadt gaar i sud dior wm
HATHT B ™ T GAR 3R S 2

F97 (11) : TEGFE At T0au 3R 94 =Afshaca wham wlerfsiEt = f&Gfie smEr 3 W
am F F JEAeE ¥ R R s E)

IR F F A °, A9 fu mu fgwent 4 o ged 3uge ST 9Id i

1) = (@) R ID) A wd E
2) = @) IR I ZE e f
(3) =y (D) EH 2, SifE = (1D o 2

(4) %A (1) Ted 2, A w97 (1) 98t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060)

%) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes,
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

fie 2t o= g g ¥ : ©F fuFYA (Assertion A) % ®9 7 faflga 2 a1 gm0 3w FW (Reason R)

ERuR-

AT (A) : foreqor o smgfiee o7 o3 &1 & et mEE@ et W fEa wEeE sttrm wiwm
i TEAY &9 2

w1 (R) ; et yurEh fagm gemar goelt 1 sfsm affeafet 4 qur % oy ggw G s
ATy

TN FHIE & o 8, 9 v v fFwewl § | w6 swow 9 Fife

(1)  (A) SR (R) 3F T3 F 3R (R), (A) 1 g8t =e 2

@) (A IR R) g T 2, s ®), (A) F w8 =ven 169 2

@) (A TE 2, AfF R) swea B

@) (A) ¥\ 2, A (R) 7 2)

[Question ID = 2016][Question Description = Q10_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]

3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]
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6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora e % wiw § ufqarli-ulides <6 Demtsa T S 27

1) I e (2 el wy
(3) IR WY (4) T MY

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068)
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7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method
(B} Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uitsreun afem e afofe @ ot ofugfe = omf % =9 4 2t 2, o 6 F=fafea 9 @ f faften

] T GUHR &7

(A) Taaones &

(By  wHiTen=s fafy
(C) = fafy
D) sl @&

(E)  ==maEmesss oty

F=1 fou o fawedt § o OF W w1 9= ST

1 (@B
@ (B IR(C)
@  (C) R D)
@ (D) (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8069]
2. 2 [Optien ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B} Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry

(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(ll1}, (B)-(I¥), (C)-(I), (D)-(I)
(2) (A)-(), (B)-(I1}, (C)-(IN), (D)-(1V)
(3) (A)-(I), (B)-(1N), (C)-Q1), (D)-(IV)
(4) (A)-(1), (B)-(1), (C)-(IN), (D)-(1V)
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-1 % |19 FAt-11 = 1A S]] G-I 7 WY = =500 U5 8, 996 FI-11 |1 395 g1 U THATH

(A)
(B)
(C)
(D)

-1

Mg & =

AT R
afiseg i
plsEee i R Reet|

ST fargemm

F fow o fameat § ¥ 9E IR 1 99 i

(1
(2)
(3)
(4

(A)-(IL), (B)-IV), (C)-aD). (D)-()
(A)-(D. (B)-AD, (C)-1ID), ()-AV)
(A)-aD), (B)-I1D), (C)-@), M)-AV)
(A4)-dID. B)-1), (C)-aD), (O)-AV)

11T

THIT ° AT ST T
()  SThe! F1 aRiors ST ATha Tt
(IT) U &R W © THFH B
(IIT) <= % %3 ¥ T 99 336
(IV) MY F =0 % s g9 T w1

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Optien ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements
Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research

article,

Statement (1) : Research ethics and its observance is mandatory for all researches.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement () and Statement (ll) are false
(3) Statement (1} is true but Statement (I} is false
(4) Statement (1} is false but Statement (ll} is true

it 3t o fqm e R

F97 (I) :

w97 (ID) :

OIS

U TY-TEY SR WME-TT § oEd o7 gedd % tawd oK Weh % T wE ot 78

Ty waet A ok s saen aft wdl F o sfar 2

ITUH HA H aTens 1, f= B o el § 9 @ s W 9 i

&)

2)

(3

4)

%y (I) 33T (11) g1 uea 3
T (D) 33 (I1) 2 318 2

=9[ (1) e B, dfha =ad (II) 379 21

Ty (1) 57903 2, ©fa =em (1) 99 21

[Question ID = 2020][Question Description = Q14_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4, 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
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Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

Hi= 2w g o £ : ©F sifiwuR (Assertion A) & ww # foiflaw @ @ 3T 39% T (Reason R)
FwaH

sAfeE (A) et wiy afieuw (Hy) #1 Fusofa s (He) 6 sema 8 wfdao frn s
=arfEa|

w0l (R) e afiepeu (Hy) =R ashanta it sl dig eu ¢ 78 &t @ gt 2

SUIE HUA H I d, T o T femedt 4 o ae Sugw T W 9 i

(1) (A) IR (R) IF1 T 2 R (R). (A) A = =7rem 2

2) (A s R) A @ F, | (R), (A) B wd wmem T R
3) Q) ud 2, e @) Td T8 2

@ (AT T R, AFE ®) = R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8081)
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

gLt 9 OiEe T 9 uEE UE feew feAtafaa § @ e 6w e 20

(1) 30 sah (2) 304
(3) 15 3RS (4) 15 Ty

[Question ID = 2022][Question Description = Q16_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088)

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

form TmTERT 1 TR (S "Let truth prevail” ®7

1 REemim R e T o
(3 TRiFm 4) 3T™T

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089)
2. 2 [Option ID = 80%0]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

prepp
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Assertion (A) : The more perfoermative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.

Reasons (R} : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= 2t &y fav v E : ves AT uT (Assertion Al % B o Teiflag 2 df 201 309 HAU (Reason R)
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FEBYH ;

a1fireE (A) Aftrs wan (Sigere) s siEes afweie SR st gar 2, v A3 Higm
£ e T TOF U9 U2 @ 2

w0 (R) : T TAR (Siswne) Hifsa W dswi 2 At $IR T 2
ST HYT H e H, 4 T faewedt 0 @ qeg I SR W wEA S

(1) (&) ¥R R) A T T it ®). (A) F @ =E 2

@) (A SR @) I T E, A R), (A) F v s T Y
(3) (M TR, Al (R) g T8 2

@) (AT TE 3, I (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096)

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System,

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and (C) only

(3) (C)} and (D) only

(4) (A) and (D) only

FIOER % SU & Bg MUFHA Wl TS 78 TR ¥ TF TR (G0 9 meral amfea ge?

(A) o fagm fafE i e g w53 F B
B) = wia safia Five % Wy e 33 % fa
(C)  Imifest =hr fran ot 1 w1 W h g

(D) =g 9N s9H % fore R difgm o uend wwe @i giar 21

et faw o foerei § o e UG 3T 1 95 il

(1) = (A) 3R (B)
(2) == (B) i (O)
(8 e (C) sik (D)
@  FEEA) IR(D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097)
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

13) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice
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(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4} (A), (C) and (D) only

o & 7 g 2 @ gy ) s st w e S

EVIR
(B)  mE
(©  yabmg
D)  ewefw

(E) €I/ = 9 g

=1 far o B § 9 wel 3 w1 =9 Fifs

() F5 (&), (B) 3 (O)
2) == (B). (C) 3R (D)
® % (C). (D) 3R (E)
4  F (), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3, 3 [Option ID = 8103)
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs, 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

U T4 % A U THAR W o7ad Wi 599 U9 3 WaAl § 4000 T, 3G I 4 "eHl § 4500 w9
R FAfaw 5 w2E A 5000 T 97| 41 3w i % AT Fo wa 5000 wuH off A 3@ 9fEw H

i 1 fRat ot ?
(1)  3000/- T3 (2) 4000/- T94
(3  5000/- T (4) 8000/- T3

[Question ID = 2027][Question Description = Q21_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76,5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg it gefi arrew wemey w1 Sid saqr -

(1) 76.5 (2) 98.25
(3) 55.75 (4) B56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
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| 2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :

(1) 25% (2) 50%
(3) 70% (4) 80%

% ARG 33 WX 39 399 W 11 ofieX 3y % e ge % vt W oifsia wRan 21 wfowa §

I
1 25% 2) 50%
(3)  70% 4) 80%

[Question ID = 2029][Question Description = Q23_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4, 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

o7 ol =g o1 T ged SEe Tosha ged 1 95% 2 A i A it o= 27

(1) 4.26% (2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]
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20) If someone sells an item at a cost of Rs. 1,200/~ with a loss of 25%, at what cost she/he should have sold it to get a

profit of 30%?
(1) Rs, 1,600/- (2) Rs, 2,000/-
(3) Rs. 2,080/- (4) Rs. 1,560/-

72 is =afs el g =+t 25% ufewm F 2 @ 38 1200/~ o § dwar 2 91 30% =1 @19 HAH

fore =@ =w =g = e Fiva | s= =i @ e

(1)  1600/- =& (2) 2000/- &
(3  2080/- ww (4) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4, 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the

unobserved object with a known object?
(1) Arthapatti (2) Anumana
(3) Upamana (4) Unuplabdhi

T9 Y™ gvwE § ymm # Fefatea § 8 FiE-m gig oma atg Bl e ang B @y muEa ®

AT 27
(1) iy (2) A
(3) smEA (4) Ty

[Question ID = 2032][Question Description = Q26_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4, 4 [Option ID = 8128]
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| 22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I FRATRE o AR ST % A H =0T =1 ol 369 T & 7

(&)  ToEmed v o semr i gaEar/ wEsEar w1 w5 (39EE)
(B) RO W H (87)

(C)  aiftrumon i fagh & = # g (Frmm)

D)  itarEn w1 B (die)

() fifta Fras =1 szmor 30 (32Em)

Hi= fog o famreat 4 @ ot sw W 99 Fifvw

1)y (D), (E). (A (C). (B)

2 D), ©). (B), A), (E)

3 D), B (E). A K©)

@ D), E).A. B O
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4, 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sahda pramana
(verbal authority) to inference?
(A) Nayaya

(B)  Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E) Carvaka/Lokayata

Choose the correct answer from the options given below ;

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
4 (A, (D) and (E) only

U YRAHE 2EAeE -9 ALIEE W63 YA Sl ST % TG A @ 7
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\u; MY

€ dtg

(D)

(E) Elﬁi?ﬁ/ﬁ}lﬁlﬂﬁ

Hi=t fau 1w faepel § O @E1 3o w1 =Ea Fifve

(1) = (B) 3R (C)
2 FF (B). (C) 3R (E)
(3) e (B) 3 (E)
4 T (A). (D) I (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Optien ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (l1) are false

(3) Statement (1) is true but Statement (Il) is false

(4) Statement (1) is false but Statement (I} is true

2 e fm o

& (D) : T R dehere % ATER BRI hE d@ifhe HH % @ra Hi g 2|

w9 (1) : s W 75 el samdt @ % 20 5| 99R o I9aA o1 =Ry "ioh a5gd: I8
el 2 25 29 0 21 ed £

IHIF FUT TS H, A 4T T fwed § ¥ wel SO % 99 i

L FE @) AR AD I 5T B
@) o @) R 1D I o= B
(3) = (D) 9 2, afFA Y (1) 169 2

(4) =9 (1) 39T 2, Aioed wga (1) gea 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
J

[Option ID = 8137]
2.3

[Option ID = 8138]
A

[Option ID = 8139]
4, 4

[Option ID = 8140]

25) Match List | with List Il
List | List Il
Steps of Argument Propositions
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(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the Kitchen
(B) Statement of reason (ll}) There is fire on the hill
(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill
(D) Statement of thesis to be established (IV) Becuase there is smoke

gefi-1 o @ geil-11 o firerm <Rif
qelt-1 eI
o % =l LETIER
(&) el i st = w9 A gf @ el gl g 2 ae o Bd 2 SN W
T
(B) =HRUT =T B A el W AT Rl
(C) Fafea Frm w1 sgEw &0 (A1) safoe vardl o 37 2|
(D) wenfea = syerel stiirumon =1 w9E (IV) Wit F= usT 3|

=t fau 7 faemedl § 9 98 FuC T = R

1)  A)-O, B)-0), (C)-AV), (D)-(1I)
2 @-av). (B)-diD), (©)-@). (D)-dI)
3  @-dID, B)-AV). (O)-(D). (D)-AD)
4  (A)-dD, B)-@), (CO)-dID). M)-AV)

[Question ID = 2036][Question Description = Q30_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4, 4 [Option ID = §144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF TS € T A T 4 A U T Aise % Aueig w1 i e 3 e o9 fee 6 gug g 2 9
Tt frzer Auei Aisal 1 o/ET TR § e oK a91 7 = 2

oo w0 % T g gl = vae e e 2

(1) v (dm) W (2) w-igEE
(3) wite =7 T 3Ed @) Ta g S FFeE

[Question ID = 2037][Question Description = Q31_GP_20NM0V_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4, 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) ; Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= 21 = fiw e R T sifhemem {Assertion A) ¥ w9 § fafigg 2 o THq 3% TRY (Reason R)
FEYH

a1t (A) ; TEF AW TESH e § O AT famen snay=s =9 ° weuifia g wiEm)
HT (R) : A 3R B wie 9R W Y § Faig T8 o gehd |
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ITUTH U ok A o, A U 7 mme § O 9 s w99 hifae

Q) (A R (R) T v £ 2R (R). (A) T wE s R

@) (&) IR ®)IA T, AR R). (A) = Td e 6 2
® (&)= R, afF (R) s B

@ (A 7w B, A (R) 7 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149%]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152)

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D}, (C), (B}

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

TaU 99 § g9d B audl % i § Fotiiiad @RS Guaietl % Oal 59 i geeE i)

(A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fog o erreut 4 9w o = == HifSw

1 (D) A){C). (B)
2 @) {D. ). B
3@ @.6B.0.0
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8153]
2. 2 [Optien ID = 8154]
3. 3 [Optien ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1} is false but Statement (ll} is true

o % Heg | foam e 3 ard-wrd 2t aFl 8, i gt e fag e F

w2 (D) : TE-F1E I I sy W w9 Bl B

e (T - ATE-THTE o5 HTEAE H &7 thi HIUST et Al Aig & T 22T =T A7 Ghar 21
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ITUTH FHYT * oew H, 19 e o Fweul § 9 gl SR w1 999 wifg

(1)

(2)

(3

(4)

F9A (T) it (A1) 2 wea &)

Fo (1) 3 (ID) 21 15 B

T (1) 93 2, S 97 (1) <79 2

FuT (I) 378 2, S w9H (D) T3 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]

oW R

. 1 [Optien ID = 8157]
2 [Option ID = 8158]
3 [Option ID = 8159]
4 [Option ID = 8160]

30) Match List | with List 1l ;

geit-1 % @ g-11 w1 fiem Hifsm)
-1
(e aTieir v7eg )
Ay OCR
(B) OMR
(C) FEmail
(D) Instant Messaging
9 fau u fomred 3 @ Ot = w1 ==a Fifw
(1)  A-dD. B)-@). (C)-(IV), (D)-AIl)
(2)  A-dD. B)-@). (C)-I1I). (D)-AV)
(3) (A)-(1), (B)-(1D, (C)-(111). (D)-(1AV)
4)  (A)-@), B)-ID, (C)-dV), (D)-(I1L)

Match List I with List I1:

(&)
B)

(©)
D)

Last I
(Computer Terms)

OCR
OMR

Email

Instant Messaging

@

eI

CRIECS

2fha 1 afafiaa gwEstl 1 T T H
o sger = 2)

A wg-Tapedm wenst § ofF 9 w0 % o

TIRE BraT 3

A11) ST FegTHeH
(IV) THRIfeTh HegFhem

@

(II)

List IT
(Purpose)

Used to scan typed or handwritten
documents

Used to mark  multiple-choice
exalinations

(III) Asynchronous Communication

(IV) Synchronous Communication

Choose the correct answer from the option given below :

(1)
2)
(3)
@

(A4)-aD), (B)-D). (O)-(IV). (D)-1I)
(&)-aD, (B)-. (C)-dLL, (D)-(IV)
(A)-(0), (B)-(I), (C)-(II), (D)-AV)
(A)-@), (B)-dD). (©)-IV). )-1I)

[Question ID = 2041][Question Description = Q35_GP_20N0OV_51_SHAAN]

1.1

[Option ID = 8161]

2.2

prepp
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[Option ID = 8162]
3. 3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

faafefigd @ o SlF-ar v A = FO HE G umd 20

(1) U IEHEEES Q) Taores weivss
(3) I SEHTIETES (4) e

[Question ID = 2042][Question Description = Q36_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3, 3 [Option ID = 8167]
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =lh-w =t gq 9 Fat w2

(1)  warfm s (2) uad Bl
(3)  iEe (4) et

[Question ID = 2043][Question Description = Q37_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4, 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa & 8 Fiv-of wepias ouE 3T Fedt 3 o 3ud st <m oE a8 ¢

(1) g9 (2) warE! e
(3 wEmdl (49 TqFF

[Question ID = 2044][Question Description = Q38_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Optien ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) Mational Mission on Survey of Himalayan Ecosystem

UG WORR ! THieAvig 1 21 % @2 8 NMSHE F=fafga & 2 feusr g 27

(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayvan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem
[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8177]

2. 2 [Option ID = 8178]
| 3. 3 [Optien ID = 8179]
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| 4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?

(A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

freferfiga § @ 3 ggus! o ufager 99 79 % TR i SerErg uREds W g 27

(A)  TEEISA SRATHIES
(B) =R vEd (PMas)
(©) SE

(D) HA

(E) ATEgE SIeERs

F= fau T fFwew § O 8 s w1 = SR

(1)  =ae (B). (C) 3k (D)

(2) = (A), (B) 3R (C)

(3)  Faa (B) 3 (D)

(4)  =ae (B) 31 (C)

[Question ID = 2046][Question Description = Q40_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]

3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to

frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE

= T & g o, wdE swaw e A gl e § uw ggEsmn dan 9 Fuifa 9 F o

Frtaiaa o @ fra To P /wree =t e T w?

1 st @ TS
@) wHiand 4) uomHdg

[Question ID = 2047][Question Description = Q41_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4, 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :

List1 ; ; : ;Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru
(C) NDRI ; ; (III) Lucknow
(D) CDRI ; ; (IV) Karnal

A1 % = g1 =1 e o)
-1 i1
(A werd O T

B) WHAELIY 1) s
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(C) U4 3 AT AR (III) =g >
(D) = ww o (V) FET
9 for 7o faeredl & @ o) ST W T A
(1) (A)-dT), (B)-dII), (C)-(I), (D)-AV)
(2  (A-dD, B)-M. (C)-AV). (D)-{I1I)
(3) (A)-1ID), (B)-D), (C)-(D). (D)-AV)
(4) (A)-(AV), (B)-AID), (O)-{I). (D)-I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8189]
2. 2 [Optien ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

{B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence}.

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A}, (B), (E) only

(3) (B), (D), (E) only

(4) (A}, (C), (D) only

73 forem ity (v § f1)-2020 % @ 3 & v Fit w9 FE N Tw@E 2| 39 FeRm % i o w22

(&) TR ¥ aTmyE ofk TETER 3 T Frim R w)

(B)  iftpm = gagH &g MR & WA & Heg ¥ fEnl % gea eE-1EE 29 U6 W9 gaA |

(©)  weft el srorett w61 serEn <A # waEn gy sgend femivgt @ anfier wr

(D) Tawem tReEl, F o ooEg aRkad F &7 § Afvew gERE B w2y otk
Lfersta =1 M F@ gr FARTE FTEIH T

(E)  Toran ienfieht o siifgm o7t gexmra amaist = fmior s

=t for e frredt 4 O o I e R

1 *=4 (A, D), (B)

2  Had (A), (B), (B)

(3  %a« (B). (D), (B)

4 FaE (), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D)} DIKSHA

(E) MOOC
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Choose the correct answer from the options given below :
(1) (A}, (B}, (E) only
(2) (A}, {(C), (D) only
(3) (B), (C), (D) only
(4) (C), (D}, (E) only

Frefafea § @ -9 $-2fm 59 27

(4)
(B)
(€)
(D)

(E)

=

(1)
(2)
(3)
(4)

=

e
L= skt |
St
%

fau e feepeat € O @) IR 1 = HifT

Fd (A). (B). (E)
Fd (A), (C). (D)
%ae (B), (). (D)

Fad (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NM0V_S51_SHAAN]

el

Option ID = 8197]

2. 2 [Option ID = 8198

3. 3]
4. 4]

40)

Option ID = 8199]
Option ID = 8200]

Which among the following goals adopted by the UN member States in 2015 is related to SDG-47

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T T % TSE 9 g AW 2015 H wad e wea-4 @ detug frfafaa 4 @ sh-w wea s

™

(1)

(3)

o7 ¢

IO TR I dagEi (2) TETOTH e

Tl I (4) ST TEER U STIETE

[Question ID = 2051][Question Description = Q45_GP_20N0OV_51_SHAAN]

1. 1]
2.2
3. 03[
4. 4]

Option 1D = 8201]
Option 1D = 8202]
Option ID = 8203]
Option 1D = 8204]
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Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the

potential to create devastating social. economic and political effects that will leave deep and
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longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this yvear, which could mean 800

million people will not be able to meet their basic needs.

e T GEUHIY U U1 35 aTg 3T I UvE W 3T 4

FIAT TEE FIFS- 19 HeMH §AR THF T STYyd AT Tanea o 3R fita favagg & o i v=w
a9 A 21 et @ % sifom At § wRen & sus sgva % @Y 95 aEa SRR B oisaR YeE
e ¥ A g 2| 9 qF gEE B9 U 10 g AT A 5 T g% & R gl weear # g
T SRR W SO U8 W 3| g A IR @RS UHE ¥ HE T 2, I Th SEE
amTfaw-a1ls wwe ot 21 3@ W waAw =it o wwite 3 e faTmmd mmEts onfie e
T w3 R o e @ T R e O §) wge ug e arhs i afafi
(ferall) 7 9w 3t bt o aht e T3 AR TR, WY AR FIvd T WeA % wedr ¥ w9 ©
= wudl geal B ol o W 2 o TE Aftew ueEE oghtem fEem % A W i 3 @ s
Ao & Aged § s o Tgr 81w e e st Sefen i e mer @ €1 % 9 wan Fr afifeetoen
Fo AITE g v | R TR iy Tgl % siea o wg-ge @il 9 31 ofadE 3w umed W
s 2 35 400 fafemm (40 wUg) @ it Fepien st et ) faza 8% 5 A e @ T s A
a-ta (ea) 7 110 faferm smieh sen A wf smof) gom sl 2 5 500 fafema (80 #03)
A A g st @ U R § g wE g e

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

it e & o1% fawa = w98 w=1 @ By &9 § smr 27

(1)
(3

Siteiires (2) YR

LRI (4) TS

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8205)
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207)
4. 4 [Opticn ID = 8208]

2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are

losing jobs and income. with no way of knowing when normality will return. Small

S, (EEVI, Lo T L b RO e, XTI oL, (SRS N ITop, [ TR W ) PRt Y10 . [ P . O S Ry . sty TETL. _
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International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEGHEE T AT $9% 18 73U T 59T W I 3

FIAT P FIfaE-19 TeMi §A1 W =1 1A 4T wee e 9ir T Rvaag = 9 f v
a1 T 31 Tos ad F sifm & o o § 6 sqwa % WY 7 arRa SRR i Big T
HEIda # %ol I 3| o9 T @ BT W 10 oG @ A I el g § AR gl wear # gl W
T FEEE S SETN 9 TE 2| UG ¥E WRMHl WRed g U wE ik 3, U8 Uk I
ameE-AidE we ff 3| 2w W UT oAt TEE AWK 2| 3Eeh faoer @i amide Wi
(Ferardl) 7 7 o1 St ot wor ol e WeF @ T B, W & 9% fava Ty wied % ueEm U ue ©
@R wudl geal B ol 3@ W 2 aw uw AREE umdE aben feem F oA owm f g @ ke
oA b Sgea # frorm e g 31 g G we st Sefen s e mar @ €1 s A2 war fr afdeste
w9 A g0 T | R gie diflE gl % gles iR wg-ae @il 9 31 faddm wm uned @
IgHE 2 6 400 fafeem (40 wUg) @Fn = Freien = vt 3 faza 9% 3 sAm T E R s A
g7-taur (ifem) # 110 ffemm smieh ser i wh snof) gom st 2 B s00 fafema (80 #U3)
ST AT gREIE) SEal B g A J w9 g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEr w1 Fefetaa 1 8 e g moaE A usT R 7

(1) \E (9) T
(3) =T ok v (4) FTEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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IS I FEUHIYE 96 9T 36 aTg 4T T O9 9 IE 2

AT TEE FIFS- 19 HeMH §HR THF T STYAyd 379 Tanea o9 3R fidta favagg & o i v=E
o€t Al 21 fer o % sifm B F when § suh seva @y A7 TERE S B Sie g
Hergid # et g 2| 99 TF g@E BT A 10 g A A S e g & iR ol weear # el w6
T SRR W I8 U8 W 3| g A TWWR @R THe ¥ W T B, T Th @
amTfam-olle wwe ft 21 3@ W waAw =it o wwite 3 e faTmmd @t onfie eii
TeHifes TaE usd 9w § N o @ o e e @ O 21 e v s e anfis afemfi
(ferarll) 7 9 w1 St It o aiiohl e W9 AR TR, WY E AR FIvd T WeT o Wedm ¥ w9 ©
= gedl geal ® ol Tm w ¢ oaw 1 Afvew ueEE enhE FeEem % e W o g @ Wi
Ao & Aged § s o wgr 81w T e st et i e mar @ ) % 9 wan Fe oot
T G B0 e |l g didfe ugh % siee ok wug-ge @l ug 3 sraddE s amen W
a9 2 5 400 fafemm (40 wUg) @Fn = FeiE = gt 21 faza 3% J sgAam e @ R s A
a-tauy (i) 7 110 faform smieh s A wf snofl) goem sifime 2 B s00 fafems (80 #Us)
AT AT g st U e d g wE 8w

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-T TSEY HiTS— 19 T e 1 T gon 27

(1)

(3)

L

ofirn (2) 3T smfEm
SR @) i

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Optien ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T i GEGFIYE® 9 AT 36 a7g 3T T 5 9 W 3

FRIAT ATE FfA8-19 TEWRT 7R T 1 S e @ gwe 3R fgdla Rveag = oig 6 v
TG TR 31 Towt @ F oARm A 5 TRE 4 36 33 WY AR AFRE SR W SISAR T
HEId ® ¥l IR 3| 9 T @ BT W 10 oG @ A o el g § R gl wear # gl w6
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CEIHT SIETIM S SO 4% tet ol YUQ Yo HDHINL SRS (TG 4 Tl YT b, Mo K S HOqd

amTTE-aE v @ 21 W W UoT whe e IR 2| s et aenfas oniYm ofn
(Rerardl) 7 3 o1 S ot wor ot e WRF @R T B, W & A% fava e wed % ueEm O we ©
@R wedl gEadl B of 3@ W 2 aw uw AREw omdE ke feem % e owm f g @ ke
A=A & Sgea 8 Frowm # @1 21w oA s srot et oit s e @ 31 5 8 v B wfifefa
w6 G B0 W A gie gt ugl % gies ik wug-ge @l ug 3 staldE s dnen W
I9HE 2 5 400 fafeem (40 wUg) @ = Freien o v 3 fara 3% 3 Em e R R owm A
g7-tau (ifem) 7 110 fufemm smieh swen H =h snof) gomw s 2 5 500 fafema (80 #U)
T Aot gREnd) orEl W qu e d and 78 g |

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geom 9 UN #it amfeas onide afamfa () T #1 99 wem fran 87

1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEHET U AT 58 918 73U T 5w % IW 3

BRI I FHifae-19 Tamil AR 99F 1 3@y Ras wren ghe iR fidfa fwagg & o 6 g
a1 A 21 Trowt ad & oifis B § oitmn § oo Sqva % WY T IERE STTHREHE F DS TAT
HEId ® %ol IR 3| 9 T @ BT W 10 g @ A o e g § R gl wreer B gl w6
T S S S US @ 2| Weg AE WeWRl WRZd Gwe U HEl ofUw 3, Uw uh onmg
amsE-oiw g% ft 21 TW W TOT e W IWiR 2 sue el e onfde iR
I T TR AT 2 e S w e TR T A S G Ty R A s e
(Ferardl) # g o1 & dt v gorieht e WeW W T 8, W & T8 fava ey weA % ueEm U e ©
@R wedl gedl w1 ol 3@ W 2 aw uw ARew omdE eben feem % owE ow f g @ ke
AH—EAE % Sded O ferw o w3 21 = B o aradt A s s war & 3 52 9 uan B ofifeatae
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w9 A g0 T | R Tie dfiE ugl % glew iR wg-9e @il 98 31 dadtdE wm wned W
a9 2 T 400 fafeem (40 Ug) AN = Tl = v 31 faza 9% 3 sigAm e § R s A
g7-ta (ifem) 7 110 faferam smieh swer i w=h snof) gow sl 2 5 500 ffema (80 #U3)
ST AT gREIE) SEal B g e J awd T g )

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres

(3) Industrial establishments (4) Educational institutions

Hifas-19 % suctmn # frfafa 9 @ 67 wreai/ wfoeml % &g 9 6t asd w9 gurear gt ?

(1) 72T 3o (9) TR g Ay
(3) Tt ufasm (4) sieriors aidem

[Question ID = 2056][Question Description = Q50_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3, 3 [Option ID = 8223]
4, 4 [Option ID = 8224]
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